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Lineare Abbildungen
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Unterschied Tensor zu Matrix
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Unterschied Tensor zu Matrix
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Einsteinsche Summenkonvention

Mittwoch, 27. Oktober 2021 12:42

Checiber,  Sic 401;#404 %J/N)&ée s fuli ki )
Lobu it [fudizes  Wute wo« A bis ya
cavthiuay

SEmv b
B

b/ fﬁz@ o fur e

Tr amsposition
:EATU"L; = //47‘44 +/1Qdéz, ) S 240
_[Auk, + gk | & gA
(41141 +4z?—é92.)
J 4@5 = Ay By -.szz A5B4 :EA.‘,,ZB:/‘ v Aab,

=1 ?';A

A + S0 Ba +Add TAB

T 22 1
d) A8 AiGuta-5EE  4icuas
= A Can BA’I + 44&44’! B t A,,LCIZM By +400 CZL/M B’VI
+ AM (/142/1 Y}u +Au Cuu @m 1 /441,(41}324 +/4u. Gaaa Bea
¥ /4/'4 (MLL RZL t /414 Cuu + 441,&171, (3 +/4IL (uu 37.7,

Y Aaa QG brn,‘\’ A CLan "('AAL(/I’LAL%@"’A‘LL Camn RAL

Horsaaluebungl 2021 10 27 Seite 5



Einsteinsche Summenkonvention
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